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Question 3
What is the smallest unit of an element?


(A)
An atom


(B)
An electron


(C)
A neutron


(D)
A proton

Question 4
What does the word combustion refer to?


(A)
The burning of a compound in oxygen.

(B)
A reaction that involves heat and smoke.

(C)
A reaction that involves hot acids and bases.

(D)
The flames that result when something burns.
Question 5
The chemical formula for limestone is CaCO3.

What information does the chemical formula give us?


(A)
The type of atoms in the compound.

(B)
The size and mass of the compound.

(C)
The common name of the compound.

(D)
The arrangement of the atoms in the compound.
Use this information to answer Questions 13–14. 

Some students carried out an experiment to determine what causes iron to rust.  The students placed iron into test tubes with different conditions and then sealed them.  The amount of rust formed was measured.
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Question 13
Which test tubes will show if water by itself will cause rusting?


(A)
1 and 3


(B)
2 and 3


(C)
3 and 4


(D)
1, 3 and 4

Question 14
What type of chemical reaction is rusting?


(A)
Corrosion

(B)
Decomposition

(C)
Neutralisation

(D)
Precipitation
Question 19
What is the chemical formula for carbon dioxide?


(A)
CO2 

(B)
CO 


(C)
C2O 


(D)
CO2 
Refer to the diagram to answer Questions 26–27.  The diagram shows a chemical compound.
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Question 26
What is the chemical formula of the compound?


(A)
S2OH


(B)
H4OS2


(C)
H2SO4


(D)
OH2S4 
Question 27
Which element is represented by the symbol [image: image5.emf] ?


(A)
Halogen


(B)
Helium


(C)
Hydrogen


(D)
Hydroxide

[image: image4.emf]Use this information to answer Questions 29–30.

A student heated some copper carbonate in a test tube as shown. 

The student wrote the following notes in their note book.


Question 29
Which statement about the notes is correct? 


(A)
Note 2 is a hypothesis.


(B)
Note 4 is an observation.


(C)
Notes 1 and 4 are conclusions.


(D)
Notes 1, 2 and 3 are observations.

Question 30
Why is the reaction called a decomposition reaction?

(A)
Heat is required.

(B)
Carbon dioxide is produced.

(C)
Two substances combine to form a larger molecule.

(D)
One reactant breaks down into two or more products.
Question 54
Name the element that is present in both hydrochloric acid and sulphuric acid.
Question 57
What is the name of the group of substances that are used to determine if a solution is basic or acidic?
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